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3 5% H 4 90 47 43 638 326 312
Ebi 3 = 145 75 70 1,348 648 700
HEEE i 55 —28 271 -710| -322| -388
2 &\ 344 182 162 3,297 1,664 1,633
iz | RNt T ET# 306 154 152 2,490 1,223 1,267
Al #0041 5 3 2 36 23 13
*Ai =t 655 339 316 5,823 2,910 2,913
§J 2} Ay 278 136 142 2,626 1,366 1,260
g | &5 |R T HETH 251 126 125 2,387 1,176 1,211
Bl 2 o i 5 4 1 50 32 18
it 534 266 268 5,063 2,574 2,489
1 T 121 73 48 760 336 424
A O & & 66 45 21 50 14 36
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#higiAl - BTT - FRIOHFEAO SMTFIAIBHRE
= . A O W A K

SR B ] = | BAEE| HaER
i 54 74,854 | 172,304 81,023 91, 281 66 -b5 121
% B i i 20, 254 46, 213 21,029 25,184 -1 -26 19
+ Z— Fr 549 1,297 616 681 -3 -2 -1
%BAEF—TH 234 593 262 331 8 -1 9
SBEFE_-TH 163 378 166 212 -3 0 -3
%BAE=TH 260 629 270 359 -2 0 -2
HEAFITH 352 849 405 444 4 -2 6
HEBAEFRTH 240 591 256 335 3 -1 4
HEAFEARTH 462 1,016 426 590 -5 -2 -3
B = 1,175 2,724 1,262 1,462 -2 -6 4
mEfA—TH 265 648 318 330 -6 0 -6
AmEMA=TH 151 383 175 208 -2 0 -2
£/ TF—TH 457 1,035 441 594 1 -1 2
£/ TF=TH 159 364 166 198 -3 -1 -2
£/ TF=TH 243 538 240 298 4 -2 6
£/ TFTWUTH 333 720 324 396 -2 1 -3
£/ THRTH 40 85 42 43 0 0 0
g / F 17 38 13 25 1 0 1
mAS—TH 232 422 181 241 4 0 4
BASZTEH 162 376 17 205 0 0 0
RAAS=TH 113 290 142 148 -3 0 -3
BAAImTH 253 566 255 311 -5 -1 -4
INET—TH 151 294 138 156 -3 1 -4
INETZTAH 482 1,176 528 648 3 0 3
INET=TH 219 476 219 257 -1 -1 0
KET—TH 430 885 389 496 -1 0 -1
KETZTH 545 1,192 547 645 -12 -1 -11
KET=TH 399 888 399 489 8 0 8
KETEHT B 361 942 419 523 -8 -3 -5
KETRETH 283 668 322 346 3 0 3
KET/RTH 196 530 246 284 5 0 5
KETETH 73 201 92 109 -1 -1 0
MKRE—TH 449 1,008 467 541 -5 2 -7
MRE_TH 473 1,011 467 544 5 1 4
MRE=TH 642 1,478 694 784 6 0 6
MAREMTH 266 644 315 329 -3 0 -3
MRERTH 603 1,396 652 744 7 -1 8
MARERTH 470 1,120 534 586 -5 -1 -4
HLEAHE—TH 537 1,088 494 594 0 2 -2
BEEAEZTH 887 1,853 825 1,028 3 -1 4
R AHE=TH 417 879 392 487 -8 -2 -6
R AHEMTH 403 911 414 497 -10 0 -10
i Bt HT 562 1,106 477 629 0 -1 1
# B m 361 881 406 475 -3 0 -3
EB—TH 395 993 463 530 -4 0 -4
EBh=TH 296 696 318 378 16 0 16




#higiAl - BTT - FRIOHFEAO SMTFIAIBHRE
= . A O W A K

SR B ] = | BAEE| HaER
REA—TH 358 782 358 424 1 1 0
EAZTH 804 1,710 770 940 2 -2 4
EA&=TH 168 434 192 242 -1 -1 0
EAMWTH 139 240 112 128 4 0 4
EA&ARTH 365 907 435 472 -5 0 -5
kR / TF 528 1,217 522 695 11 0 11
BEF—TH 269 592 273 319 2 0 2
WBEEFEZTH 237 571 264 307 -3 0 -3
WEE=TH 187 383 185 198 2 0 2
BEEFMNTH 96 232 99 133 0 0 0
WAHB—TH 219 477 219 258 3 0 3
WEAAHB=TH 163 390 180 210 -2 -1 -1
WMAAHB=TH 221 570 232 338 -1 1 -2
WA ABETAE 134 396 169 227 -4 -1 -3
WMAAHBETE 606 1,454 671 783 3 1 2
B h 5 10, 002 23,998 11,185 12,813 -9 -18 9
[E#—TH 440 1, 301 596 705 5 1 4
E#_—TH 488 1,134 547 587 -4 -1 -3
E#=TH 41 1,614 741 873 -8 0 -8
E#mT 8 342 147 366 381 -4 0 -4
BEHATH 398 987 47 516 7 0 7
L - 2, 386 5, 694 2,657 3,037 9 -6 15
m#EE—TH 480 1,116 511 605 -4 -1 -3
mH#EE_TH 378 924 430 494 -4 -1 -3
m#EE=TH 262 647 301 346 5 1 4
mEE#EEmTH 417 1,008 474 534 1 -1 2
tEBHERE—TH Ji 23 10 13 0 0 0
tEHER_-TH 433 1,036 469 567 -1 -3 2
tEBAHER=TH 472 1,170 524 646 -5 -3 -2
tEHERMTH 502 1,189 550 639 -5 -4 -1
tEBAHEREATH 264 669 319 350 8 0 8
ER—TH 730 1,814 837 9717 -4 -1 -3
EWR_TH 449 1, 061 508 553 -2 0 -2
tEBHE—TH 447 1,002 471 531 -1 1 -2
tBAHEZTH 366 862 403 459 -2 0 -2




#higiAl - BTT - FRIOHFEAO SMTFIAIBHRE
- " O W R &
MTEE | WRR ] = | BAEE| HaER
FE R Ot i 14, 408 33, 631 15,927 17,704 16 -10 26
EER—TH 361 804 396 408 1 0 1
wB’E_TH 855 2,139 1,022 1,117 3 0 3
®’ER=TH 576 1,384 637 147 0 -2 2
EBEREOTH 307 684 305 379 -2 0 -2
EERERATH 392 770 360 410 -2 -2 0
7 ] 188 427 209 218 -3 0 -3
F9—TH 454 1,037 503 534 1 0 1
FH-TH 486 1,124 504 620 2 0 2
FH5=TH 392 991 426 565 8 0 8
*F n 321 572 294 278 -7 0 -7
L % 2,390 5,508 2,720 2,788 13 2 11
+t BT = 832 1,886 864 1,022 1 0 1
FL—TH 299 711 337 374 3 -1 4
FILZTH 469 1,208 558 650 3 -1 4
FIL=TH 329 804 392 412 1 0 1
FLUTH 562 1,424 691 733 -3 -1 -2
FLETH 208 389 203 186 3 0 3
FILRTH 107 209 112 97 -6 -1 -5
F = 43 93 38 55 -1 0 -1
HH—TH 209 449 215 234 1 0 1
HSH_-TH 383 935 456 479 0 0 0
HH=TH 843 1,968 949 1,019 3 3 0
HAHMNTH 335 810 398 412 1 0 1
HHAETH 623 1,530 706 824 7 0 7
HHAHNTH 189 457 211 246 1 -1 2
2] H 0 0 0 0 0 0 0
w g 1,413 3, 281 1,497 1,784 -9 -2 -7
#HeEL—T8H 216 512 232 280 -2 -1 -1
#EIL=TH 242 592 27 321 -1 0 -1
HEIWL=TH 255 594 275 319 1 -2 3
HELmTAH 129 339 146 193 -1 -1 0
X s o g 19, 879 43, 648 21,020 22,628 61 -2 63
W / A 1,690 3,739 1,753 1,986 -6 -5 -1
5ZTH 847 1,475 755 720 9 1 8
&£=TH 697 1,536 731 805 17 0 17
£WMWTH 735 1,623 794 829 3 0 3
EEHTH 1,107 2,758 1,350 1, 408 12 7 5
& 890 2,047 968 1,079 -7 0 -7
INEAR—TH 576 1,043 534 509 5 -2 7
INSGAZTH 1,050 2,209 1,103 1,106 0 0 0
h & B 38 100 52 48 1 0 1
Ki—TH 319 549 254 295 6 1 5
KW=-TH 1,010 1,713 846 867 4 -1 5
KM=TH 573 1,128 544 584 -4 0 -4
K TH 147 1,655 794 861 1 -1 2
KWETH 871 1, 885 880 1, 005 3 2 1
RATH 552 1,151 533 618 4 1 3




#higiAl - BTT - FRIOHFEAO SMTFIAIBHRE
- " O W R &

MTEE | WRR ] = | BAEE| HaER
X i 1,372 3,235 1, 561 1,674 7 -5 12
=) 25 325 890 418 472 -5 -1 -4
=#—TH 1,768 3,899 1,899 2,000 12 1 1
b p) 1,955 4, 356 2,140 2,216 6 1 5
SR—TH 191 480 228 252 -6 0 -6
SR”-TH 331 900 413 487 8 0 8
SR=TH 234 556 271 279 -4 0 -4
SRERETH X X X 0 0 0
SRATH X X X 0 0 0
SRE—TH 305 763 360 403 -1 0 -1
SEE-TH 204 484 232 252 3 0 3
SRE=TH 231 521 232 289 1 0 1
SREBMTH 403 986 458 528 0 0 0
SRERTH 168 404 183 221 -4 -1 -3
SREBATH 330 743 345 398 -5 0 -5
SREtTH 354 820 383 437 1 0 1
E 8 10, 311 24,814 11, 862 12,952 5 1 4
&—TH 423 801 388 13 -3 0 -3
EA—TH 663 1,365 659 706 8 0 8
FAZTH 744 1,512 709 803 2 -2 4
] N 1,825 4,521 2,121 2,400 -19 0 -19
E#E—TH 674 1, 396 685 711 8 0 8
E#W-TH 123 1,716 826 890 1 0 1
EE=TH 240 596 291 305 -2 1 -3
EEUTH 218 627 300 3217 0 0 0
EEETH 449 1,133 549 584 4 1 3
& N 2,194 5, 366 2,594 2,772 3 1 2
W i 1,427 3,764 1,799 1,965 3 -1 4
3] =S 731 2,017 941 1,076 0 1 -1
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